GLIJBOUT VOOR RAILS K l-l n |-- 5
STAAL VERZINKT savasovd technika

MET OPGEMONTEERDE MOER EN SLUITRING

Description:

The slide T-bolt assembly is used as a connecting part necessary for the fixing of pipe clamps into fixing rails or
cantilever arms.

Various lengths of the slide T-bolt assembly enable the adjustment of the pipe gradient. The slide T-bolt assemblies
are variable with all dimensions of fixing rails and cantilever arms.

The slide T-bolt assembly contains: a slide nut, a large washer, nut and a threaded screw.

Material :

Steel class 5.6 - zinc plated

Supply No. Name Suitable for profile Package

31100820 Slide T-bolt assembly M8x20 mm 27/18+28/30 26 14.2 6 M3 20 27118, 28/30 100
31100830 Slide T-bolt assembly M8x30 mm 27/18+28/30 26 14,2 6 Ma 30 27118, 28/30 100
31100850 Slide T-bolt assembly M8x50 mm 27/18+28/30 26 14,2 6 M3 50 27118, 28/30 100
31100880 Slide T-bolt assembly M8x80 mm 27/18+28/30 26 14,2 6 M3 80 27118, 28/30 100

31100899 Slide T-bolt assembly M8x100 mm 27/18+28/30 26 14,2 6 M3 100 27118, 28/30 100



Supply No. Suitable for profile Package

31101030 Slide T-bolt assembly M10x30 mm 38/40+40/60 36 155 6 M10 30 38/40, 40/60 100
31101050 Slide T-bolt assembly M10x50 mm 38/40+40/60 36 155 6 M10 50 38740, 40/60 100
31101080 Slide T-bolt assembly M10x80 mm 38/40+40/60 36 155 6 M10 80 38/40, 40/60 100
31101100 Slide T-bolt assembly M10x100 mm 38/40+40/60 36 155 6 M10 100 38/40, 40/60 100
31101230 Slide T-bolt assembly M12x30 mm 38/40+40/60 36 155 6 M12 30 38/40, 40/60 50
31101240 Slide T-bolt assembly M12x40 mm 38/40+40/60 36 155 6 M12 40 38/40, 40/60 50
31101280 Slide T-bolt assembly M12x80 mm 38/40+40/60 36 15.5 6 M12 80 38/40, 40/60 50
31101830 Slide T-bolt assembly M8x30 mm 38/40+40/60 36 15.5 6 M8 30 38/40, 40/60 100
31101850 Slide T-bolt assembly M8x50 mm 38/40+40/60 36 15.5 6 M8 50 38/40, 40/60 100

31101880 Slide T-bolt assembly M8x80 mm 38/40+40/60 36 155 6 M8 80 38/40, 40/60 100



Supply No. Suitable for profile Package

32903054 Slide T-bolt assembly type 5T M8x40 mm 34,5 19 6 M8 40 5T41/21, 41, 62 100
32903055 Slide T-bolt assembly type ST M8x50 mm 34,5 19 6 M8 50 5T41/21, 41,62 100
32903058 Slide T-bolt assembly type 5T M8x80 mm 34,5 19 6 M8 80 5T41/21, 41, 62 100
32903104 Slide T-bolt assembly type 5T M10x40 mm 34,5 19 8 M10 40 5T41/21, 41, 62 100
32903106 Slide T-bolt assembly type 5T M10x60 mm 34,5 19 8 M10 60 5T41/21, 41, 62 100
32903108 Slide T-bolt assembly type ST M10x80 mm 34,5 19 8 M10 80 5T41/21, 41,62 100
32903204 Slide T-bolt assembly type 5T M12x40 mm 34,5 19 10 M12 40 5T41/21, 41, 62 50
32903206 Slide T-bolt assembly type 5T M12x60 mm 34,5 19 10 M12 60 5T41/21, 41,62 50

32903208 Slide T-bolt assembly type 5T M12x80 mm 34,5 19 10 M12 80 5T41/21, 41, 62 50



NORMAL TYPE

STRUT TYPE

M

1
——————————

B )

N VA




CROSS REFERENCE TABEL :

Fabric WT ARTIKELNUMMER Inhoud

Industrial pack WT system WT system I-pack/pcs R-pack/pcs S-pack/pcs
Partnr. Fabric pack Retail pack Small pack Pack Carton|| Pack Carton|| Pack Carton
31100820 |IWVSIZM-02708020-100 | IWVSRWT-02708020-025 | IWVSSWT-02708020-202 | 100 | 1000 1X25 | 10x25 6x2 60x2
31100830 | IWVSIZM-02708030-100 | IWVSRWT-02708030-025 | IWVSSWT-02708030-202 { 100 | 1000 1X25 | 10x25 6x2 60x2
31100850 |IWVSIZM-02708050-100 100 | 1000 6x2 60x2
31100880 : IWVSIZM-02708080-100 100 1000 6x2 60x2
31100899 | IWVSIZM-02708100-100 100 | 1000 6x2 60x2
31101830 i IWVSIZM-03808030-100 | IWVSRWT-03808030-025 | IWVSSWT-03808030-202 { 100 | 1000 1X25 | 10x25 6x2 60x2
31101850 |IWVSIZM-03808050-100 | IWVSRWT-03808050-025 | IWVSSWT-03808050-202 | 100 | 1000 1X25 | 10x25 6x2 60x2
31101880 : IWVSIZM-03808080-100 100 | 1000 6x2 60x2
31101030 |IWVSIZM-03810030-100 100 | 1000 6x2 60x2
31101050 : IWVSIZM-03810050-100 | IWVSRWT-03810050-025 | IWVSSWT-03810050-202 | 100 | 1000 1X25 | 10x25 6x2 60x2
31101080 | IWVSIZM-03810080-100 100 1000 6x2 60x2
31101100 : IWVSIZM-03810100-100 100 | 1000 6x2 60x2
31101230 | IWVSIZM-03812030-050 50 500 6x2 60x2
31101240 : IWVSIZM-03812040-050 50 500 6x2 60x2
31101280 |IWVSIZM-03812080-050 50 500 6x2 60x2
32903054 : IWVSIZM-S4108040-100 | IWVSRWT-S4108040-025 | IWVSSWT-S4108040-202 | 100 | 1000 1X25 | 10x25 6x2 60x2
32903055 | IWVSIZM-S4108050-100 100 1000 6x2 60x2
32903058 : IWVSIZM-S4108080-100 100 | 1000 6x2 60x2
32903104 | IWVSIZM-S4110040-100 100 | 1000 6x2 60x2
32903106 : IWVSIZM-S4110060-100 | IWVSRWT-S4110060-025 | IWVSSWT-S4110060-202 | 100 | 1000 1X25 | 10x25 6x2 60x2
32903108 | IWVSIZM-S4110080-100 100 | 1000 6x2 60x2




HOW TO USE.




